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MASTER OF ARTS (Economics) 

Term-End Examination 

December, 2014 

MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as instructed. 

SECTION - A 

Attempt any two questions from this section. 
(Answer in about 500 words each) 	2x20=40 

1. Discuss in detail the Arrow Impossibility Theorem 
and observations made by A.K. Sen. 

2. What do you mean by public choice ? List out 
various voting models that attempt to translate 
individual preferences into public choice. Explain 
the condition under which median voter wins in 
the majority voting rule. 

3. Explain briefly the determination of monopoly 
price. Explain, why the monopoly equilibrium 
for a public utility is unstable. In this context 
explain average cost pricing. 

4. Discuss the present Indian tax structure in 
comparison with pre-reform tax structure. 
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SECTION - B 
Attempt any five questions from this section 
(Answer in about 300 words each) : 	5x12=60 

5. Discuss Lindahl Pricing for efficient allocation of 
public goods. 

6. Discuss the context in which industries and 
individuals reveal their preferences by 'voting 
with their feet'. 

7. Discuss the principles of fiscal devolution in a 
federal polity. 

8. Discuss the basic features of the Open 
Coordination Method. 

9. What are the main differences between public and 
private debt ? What are the limits to raising public 
debt by a government ? 

10. Discuss the issues of tax competition and tax 
exportation in a decentralized fiscal system. 

11. Explain and differentiate between point and rank 
voting. 

12. "Privatization may even lead to market failure". 
Explain. 
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